[image: D:\התמונות שלי\לשימוש\חידות\10922491_359626660886713_4396731212317203947_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\13406863_1155814657814902_4598244887513367869_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\14212836_1224609784268722_2532915791908585130_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\13413693_1158038637592504_6306888148720412105_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\13428532_1164785846917783_2804421179538762157_n (1).jpg][image: D:\התמונות שלי\לשימוש\חידות\14238218_1225677140828653_5006840318050843046_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\12744426_1080021265394242_198373614974366735_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\12809579_10209186156395096_8704579519317686750_n.jpg][image: D:\התמונות שלי\לשימוש\חידות\14657291_631604983631118_2095510873114225378_n.jpg]
image5.jpeg
?07 nx unAv NN





image6.jpeg




image7.jpeg
D7D DX NYAYNY DUTND ATND
27010 NAUYND AN

\J\J
IV
w -

v'v
D

0'DIo1 NIYIAN

EQQE




image8.jpeg
© O
© M ?

tﬁﬁr %»
.tﬂ*wtﬁ





image9.jpeg
NMIYNN NXR Q'VTI' DOINY DAIYN

ANT [1'I02 1DTH "IN NTAN'T 101D




image1.jpeg




image2.jpeg
Can you solve this?
R+ +=60
<;j+°+°=30
& -“%=3

:,‘7 °=9

‘ mmm voisy. YLMLGI@"VC@W annwa? .





image3.jpeg




image4.jpeg
?|nn-91 nn

0OI9A NX ANV VOIS TNV "7 NIWY? 037 GNNWAT *T:
0'0191 M71AN #





